ANSWERS TO ASSIGNMENT # 9 

1a)

HO: mean blood pressure is the same in the four groups of patients (1 =2=3=4) 

HA: At least one group (i) has a different mean blood pressure from the others 

	
	       Source 

      SS   

      df 

      MS  

    Total 

      59636.49 

      348 

       Patient groups 

      3181.65 

      3 

      1060.55 

       Error 

      56454.84 

      345 

      163.64 

    


	


F = 6.48,   F0.05(1),3,345 ≈ 2.63    Since F > 2.63,  P < 0.05,  reject HO 

b)

Assume normal populations with equal variance. 

c)

Fixed effects. The treatment levels are well defined categories of interest, not randomly sampled from a population of levels. 

d)

No because this is not a controlled experiment. It is possible that differences in mean blood pressure are caused by other factors correlated with smoking behavior. 

2)

HO: Fraction of seeds that germinate is equal among seed species (i.e., germination and seed species are independent) 

HA: Fraction of seeds that germinate is unequal among seed species 

Expected frequencies in parentheses (^fi): 

	
	Seed 

      Seeds 

      Seeds not 

species 

      germinated 

      germinated 

      total 

1 

      57 (58.09) 

      33 (31.91) 

       90 

2 

      87 (94.88) 

      60 (52.12) 

      147 

    3              69 (60.03)         24 (32.97)          93

total 

      213

      117 

      330 


	


2 = 5.687,    = 2,    20.05,2= 5.991. 


Since 2 < 5.991,   P > 0.05,  do not reject HO 



3a)

Use the Bonferroni correction: use a significance level of  = 0.05/k for each test rather than  = 0.05. 

b)

Carrying out all pairwise two-sample t-tests increases the probability of committing at least one type I error. The type I error rate can be held to 0.05 if we use the Bonferroni correction, but this approach is not as powerful as ANOVA. 
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